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following inequality for x:

Question 5: Solve cach of the (2 marks)

a) 4x+1022x+14

(2 marks)

b) fx-3[<1S
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(2 marks)

(2 marks)




=359} and C =113

Find:
a) AnB= (hnack)
b) C-A= (1 mark)
0 B= (1 mark)
W= (1 mark)

(2 marks)

(2 marks)




Ouestion 7: Solve each of the following equations for x
a) Ix-d=x+6

b) Re-3-s
»

(2 marks)

(2 marks)

(2 marks)
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Question 1: Let U ={2,3,45,6,7), 4={2,4,6)and B={3.57} and C=(3,4} Find:

a) Auli= (1 mark)
b) BnC= (1 mark)
¢) C= (1 mark)
d) A-C= (1 mark)

Question 2:Determine which of the following numbers are integers:(2 marks)

x4 ‘_..._....._....,3'61_31._

2 5 s

Question 3: Evaluate (3 marks)
75 172

- (%) =
I

b- }\.I'r—ﬂ s l:ilj._l_gs/
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Question 4: Perform cach of the following:

a) (' +2x! + ) +(2x° 4322 +9) (1.5 marks)

b) (3x+ IHZ2x +4)

(1.5 marks)
(=" +3x-10) (x'-2%)

) 3x + (%" +5x) S
Question 5: The sum of four consccutive even integers is 28 What are the
integers? (2 marks)
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Question 6

Solve each of the ¢
¢ each of the following inequality fory :
) 2x4+3 <9 3

(2 marks)

b) 6x+122 2, +32

(1.5 marks)

b) Sx-5<20 (1.5 marks)
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Question 7: Perform

a) (4+50)+(2+3i0) (2 marks)

by (3+2N(3~-2i) (2 marks)

(1 mark)




